Asymetry measurement using
the standard decoder



New in decoder

Helicity and pattern Synch taken from ring buffer
Shift S1 data compare to ring buffer (+1)

Shift FADC event compare to ring buffer (+3)

Getting asymetries from output tree using root scripts

Will work with any delay helicity value (need to give the delay for
correct analysis, not yet in the data file)

Asymmetries are calculated from fadc or S1 (still have pb with S2)
Scripts to plot asymmetries are in /a/itsuser/real/scripts

— Need new version of decoder (Erica should put it in opsmdaq as soon as
possible)



Mott asymetries (FADC)

Run 2655, trigger is Mott detector, helicity from ring buffer.

Mott asymmetry Left/rigth
_ hasymhatilR
- Entries 1358
7o | Maan -2
Nb of quartet : 1358/2927 P
Ovarfow )

Almost 50% removed by predictor!!
Need to check why
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Raw Ay=-32.9 (compare to 34.28, see https://cebaf.jlab.org/elog/entry/1665562)




BCM asymetries

S1 + ring Hel S2 + ring Hel
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And s1m_ch1 and helicity are taken from
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BPM

4 BPMs

OLO1, OLO2 rotated

5D00, 5D01 not rotated
Pedestal taken from run 2887
Run analyzed :

1640 charge Asym pita=0
1641 charge Asym pita=10000
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run 2640 pita=0
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Run 1641 pita =10000
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BPM

* Beam charge asymetry induce a beam position
asymetry

* Y position shows 2 peaks in OLO1 and OLO2

* Y position shows 2 peaks when rotated in
5D00 and 5D01 but only 1 peaks when not
rotated?




